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IV Semester M.B.A. Degree Examination, July 2016
(CBCS)
MANAGEMENT
4.3.1 : Strategic Brand Management

Time : 3 Hours . ; ' : ‘Max. Marks : 70

SECTION-A
Answer any five questions, each question carries five marks. (5%5=25)
1. What is product ﬁortfolio analysis ?
2. Explain the difference between brand management and product management.

3. What is meant by brand extension and stretchihg'and what are the advantages
and disadvantages of brand extension ?

4. What is celebrity endorsement and update positioning over time ?
5. What are the criteria for choosing brand elements ? Discuss.

6. Explain different marketing communication options for building the brands and
their advantages and disadvantages. ’

7. Discuss the importance of brand valuation and its components.

SECTION-B
Answer any three questions, each question carries ten marks. (3%x10=30) |

8. Briefly describe each of the four distinct stages of the product life cycle taking an
example each from consumer and industrial products you are familiar with.

9. Explain the positioning guidelines for brand building.
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12. Case studycompulsory o I o (1x15=15) )
- Inthefinal analysis, the market belongs to two brands the No. 1 and the No 2.

- They are total opposites of each other. The successful number two brand is the -
. opposite of the successful number one brand. To illustrate, if Coke is for the

older kids, Pepsi will go for the younger kids. If IBM is for big companies, then
Apple is for small companies. If IBM is corporate button-down, the Apple is wild
and crazy. When there are hundreds of brands and competition, a small company
-can become number two by relating its brand to brand one and then reversing
the essence of the leader’s position to become the opposite. The option to number
- three, number four and other runner-up brands is to create a new category where
they have the potential to be number one. Instead of choosing this option, the
number three choose the quality option. It tries to improve on quality and getinto '
= TQM. They want to produce better products, but the:customer still views these
products W|th skeptlmsm His typ!cal questlon is “If you have a better product




